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T H&j‘ sy | e | makrea| T B wr | sy | owe  |meamadt
4NLLTF - - - - - - - - - -
5~9A - - - - - - - - - -
10~19 A 5 3.2 1.6 1.8 0.3 1.6 1.5 0.4 2.4 12.8

25.0 12.5 14.1 2.3 12.5 11.7 3.1 18.8 100.0

20~29 A\ - - - - - - - - - -

A TETyN 2 X X X X X X X X X
i

] X X X X X X X X X

50~99 A - - - - - - - - - -

100~299 A - - - - - - - - - -

300 ALLE - - - - - - - - - -

[& Ft] 7 5.7 2.4 2.4 1.1 3.3 1.8 1.3 2.4 20.4

28.0 11.9 11.9 5.2 16.1 8.7 6.3 11.9 100.0

H R ER 1 X X X X X X - X X

X X X X X X — X X

HEs A ER 1 X X X - X X - X X

X X X - X X - X X

PESEF 5 5.2 2.0 2.6 1.1 2.2 1.7 1.8 2.4 19.0

27.4 10.5 13.7 5.8 11.6 8.9 9.5 12.6 100.0

" WEEEIRI - - - - - - - - - -

}‘:':I] BRI - - - - - - - - - -

VTR —ER - - - - - - - - - -

o - - - - - - - - - -

[& Ft] 7 5.7 2.4 2.4 1.1 3.3 1.8 1.3 2.4 20.4

28.0 11.9 11.9 5.2 16.1 8.7 6.3 11.9 100.0
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eEE o He | HRRERD | S5 HED | pe e | AR | ik e 4;_7]];2 ZDth, &3 1)\%’1@)
(#b) ol CF-H)) =t
ANLLT - - - - - - - - -
5~9 A - - - - - - - - -
10~19 A 1,376 28,942 53,773 1,119 1,958 3,939 779 91,885 6,934.7
2.0 33.6 55.3 1.2 2.5 4.8 0.8 100.0
20~29 A\ - - - - - - - - -
H — — — — — — — — —
o 30~49 A X X X X X X X X X
5l X X X X X X X X
50~99 A\ - - - - - - - - -
100~299 A - - - - - - - - -
300 ALL E - - - - - - - - -
[& &) 35,714 32,036 97,212 1,367 1,926 23,127 519 191,901 8,722.8
10.5 95.7 52.3 0.9 1.8 8.2 0.5 100.0
H R E R X X X X X X - X X
X X X X X X - X
= FHER X X X - - - X X X
X X X - - - X X
REEIE 10,479 24,808| 105,117 1,119 1,958 33,759 610 177,849 8,469.0
2.8 21.1 60.0 1.2 2.5 12.0 0.5 100.0
” L EEE R - - - - - - - - -
He — — — — — — — — —
1] R R ED ) - - - - - - - - -
VTR —E R - - - - - - - - -
Z DA, - - - - - - - - -
[& #t] 35,714 32,036 97,212 1,367 1,926 923,127 519 191,901 8,722.8
10.5 25.7 52.3 0.9 1.8 8.2 0.5 100.0
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H1 il B DO FikE
AtifEiE T F7 vk F 7k FIH)L F DAt A 2o AHEF
(t1) BCEE R | s FRIEE Fl il Il % H—E R
ANLLTE - - - - - -
5~9 A - - - - - -
10~19 A 75,254 - 11,945 2,481 2,297 91,885
81.9 - 13.0 2.7 2.5 100.0
20~29 A\ - - - - - -
fﬂ 30~49 A X - X X - X
%%J X - X X - X
50~99 A - - - - - -
100~299 A - - - - - -
300 AL - - - - - -
[& &) 153,329 - 21,685 13,625 3,262 191,901
79.9 - 11.3 7.1 1.7 100.0
RGN X - X X - X
X - X X - X
5 HE X - X - - X
X - X - - X
PESERTRI 137,121 - 18,141 18,141 4,446 177,849
77.1 - 10.2 10.2 2.5 100.0
" FE =il - - - - - -
/E.j’] R - - - - - -
VTR —ER - - - - - -
Z DAt - - - - - -
& 7] 153,329 - 21,685 13,625 3,262 191,901
79.9 - 11.3 7.1 1.7 100.0
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(1) ¥ | EE | DS CEY)
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4 NLLT - - - - -
5~9 A - - - - -
10~19 A 51 32.6] 13.6] 53.8] 100.0

# [20~29 A - - - - -
T 130~49 A 2 X X X X
B [50~99 1 - - - - -
100~299 A - - - - -
300 NLL 1 - - - - -

& 7t 71 26.4| 15.0| 58.6] 100.0

H R ET ) 1 X X X X
=5 H Ll 1 X X X X
W REEEN 5] 328 1.0] 66.2] 100.0
e TEEETR - - - - -
;E':IJ FERR R - - - - -
VThHh—ER - - - . -

Z Ot - - - - -
[& Ft] 71 26.4] 15.0] 58.6] 100.0
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ANLLT - - - - - - - - - - -
5~9 AN - - - - - - - - - - -
10~19 A 91,885 6,908.7 17,055 13,895 - 60,935 4,581.6 4,156 1,396 55,383 4,164.2
100.0 18.6 15.1 - 66.3 4.5 1.5 60.3
20~29 A - - - - - - - - - - -
5L 30~49 A\ . . . . . . . .
i X X X X - X X X X X X
5] X X X - X X X X
50~99 A\ - - - - - - - - _ _ _
100~299 A - - - - - - - - _ _ _
300 A LA I - - - - - - - - - - -
[& Gt 191,901 8,722.8 40,629 33,805 - 117,466 5,339.4 5,442 1,928 110,097 5,004.4
100.0 21.2 17.6 - 61.2 2.8 1.0 57.4
HE R R X X X X - X X X X X X
X X X - X X X X
5 FHENR X X X X - X X X X X X
X X X - X X X X
[REE 2= 177,849 8,469.0 41,166 29,627 - 107,056 5,097.9 5,991 1,127 99,938 4,758.9
100.0 23.1 16.7 - 60.2 3.4 0.6 56.2
" I F I - - - - - - - - - - -
5] [FERFIR B N N N B N N B B B B
VTRt —E X - - - - - - - - - - -
Z At - - - - - - - - - - -
[& Ft] 191,901 8,722.8 40,629 33,805 - 117,466 5,339.4 5,442 1,928 110,097 5,004.4
100.0 21.2 17.6 - 61.2 2.8 1.0 57.4
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T H %% FHHEAG A | BRI | 7 U2 FDih &%

(11) MEH: Eabuiyp s C22))
ANLLT _ _ _ _ — _
F~9 K f _ f _ _ _
10~19 A 11,284 1,499 1,625 1,589 2,076 18,055
62.5 8.3 9.0 8.8 11.5 100.0
20~29 \ - - - - - -
%2: 30~49 A X X X X X X
] X X X X X X
50~99 A - - - - - -
100~299 A - - - - - -
300 AL - - - - - -
[& &f] 23,959 2,487 3,365 3,292 3,475 36,579
65.5 6.8 9.2 9.0 9.5 100.0
H R E ] X X X X X X
X X X X X X
5 HE X X X X X X
X X X X X X
P SEET) 20,542 2,129 2,804 3,548 4,832 33,787
60.8 6.3 8.3 10.5 14.3 100.0
2 I LEF T _ _ _ _ — _
RE — — — — — —
‘}DJ“[J B T - - - - - -
VIR —E R _ _ _ _ _ _
Z DA, - - - - - -
[& &f] 93,959 2,487 3,365 3,292 3,475 36,579
65.5 6.8 9.2 9.0 9.5 100.0
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SR e “HE

A ANDUTF | 5~9N | 10~19A | 20~29 A 3059)\ 50~99 A [ 100~29 [300 ALIE] [# 4] HiRR ES ] GES @%%ﬂ ik A zoft | [#BRFEH]

EUN Dl Byl Rl Byl Dl P—t R
TIK (fD) - - 4 - P - - 6 1 1 4 - - - 6
DN PE - -l 44,734 - X - -| 105,208 X x| 84,491 - - -| 105,208
- - 43.1 - X - - 57.5 X X 55.6 - - - 57.5
I 7 PE (WS 5 ) - -| 47,008 - X - -| 69,547 X x| 55,341 - - -| 69,547
% - - 45.2 - X - - 38.0 X X 36.4 - - - 38.0
PE | & PE DD B E AR - - 9,517 - X - - 9,948 X X 9,866 - - - 9,948
@ - - 9.2 - X - - 5.4 X X 6.5 - - - 5.4
i[RIV e - - 12,145 - X - - 8,097 X x| 12,145 - - - 8,097
- - 11.7 - X - - 1.4 X X 8.0 - - - 4.4
At - -| 103,888 - X - -| 182,851 X x| 151,977 - - -| 182,851
- - 100.0 - X - - 100.0 X X 100.0 - - - 100.0
miEh A - - 15,176 - X - -| 45,924 X x| 43,258 - - -| 45,924
- - 14.6 - X - - 25.1 X X 28.5 - - - 25.1
£ |EEAE - -l 63,422 - X - -| 104,665 X x| 104,053 - - -| 104,665
1 - - 61.0 - X - - 57.2 X X 68.5 - - - 57.2
[fafEsr] - -| 78,598 - X - -| 150,588 X x| 147,311 - - -| 150,588
£ - - 75.7 - X - - 82.4 X X 96.9 - - - 82.4
1& BAG - - 20,750 - X - - 39,013 X x| 21,750 - - - 39,013
D - - 20.0 - X - - 21.3 X X 14.3 - - - 21.3
i g (2ol - - 4,539 - X - -l -6,750 X x| -17,084 - - - 6,750
S - - 4.4 - X - - 3.7 X X -11.2 - - - 3.7
[EARG] - -| 25,289 - X - -l 32,263 X X 1,666 - - -| 32,263
- - 24.3 - X - - 17.6 X X 3.1 - - - 17.6
At - -| 103,888 - X - -| 182,851 X x| 151,977 - - -| 182,851
- - 100.0 - X - - 100.0 X X 100.0 - - - 100.0




11 AR CE B TR (), T Be ARk bR (%)

1 2 3 4 5 6 7 8 9 10 11 12 13 14
s MR | orBsE (AR | BN | 2o | DS AmE AN | B | RS A | ST R | AR | | V— X | ok | KR
s (B35 # HEIEE N I ¢ Fid it =] Fid BB | O
FE ) iz Fsir KA AT
YNGR )]

TREL R f - - - - - - - - - - - - - f
5~9 A - - - - - - - - - - - - - - -
10~19 A 4 13,895 22,948 17,055 -226 4,391 3,557 61,620 - 61,620 18,795 599 1,396 32,647 94,266
14.7 24.3 18.1 -0.2 4.7 3.8 65.4 65.4 19.9 0.6 1.5 34.6 100.0

20~29 A\ -
B ox - . . . . . . . - - - - - - -
i ~ 2 X X X X X X X X X X X X X X
5.'[] X X X X X X X X X X X X X X
50~99 A\ - - - - - - - - - - - - - - -

100~299 A -
300 ALLE - - - - - - - - - - - - - - -
[& 7] 6 33,805 45,388 40,629 -124 13,376 4,661 137,735 137,735 35,194 781 1,928 57,194 194,928
17.3 23.3 20.8 -0.1 6.9 2.4 70.7 - 70.7 18.1 0.4 1.0 29.3 100.0
HRRET R 1 X X X X X X X X X X X X X X
B FHELRI 1 X X X X X X X X X X X X X X|
EEE 4 29,627 46,766 41,166 -238 9,433 4,902 131,655 -| 131,655 27,931 1,089 1,127 50,394] 182,049
16.3 25.7 22.6 -0.1 5.2 2.7 72.3 72.3 15.3 0.6 0.6 27.7 100.0
o |ELEEFIR - - - - - - - - - - - - -

ES

HE - - - - - - - - - - - - - -
) [FEERFIR - - - - - - - - - - - - - - -
VIR —E A - - - - - - - - - - - - - - -
[& 3] 6 33,805 45,388 40,629 -124 13,376 4,661 137,735 -l 137,735 35,194 781 1,928 57,194 194,928
17.3 23.3 20.8 -0.1 6.9 2.4 70.7 - 70.7 18.1 0.4 1.0 29.3 100.0




12, HARRTLCEBe: TA P (), T Be ARk bR (%))

1 2 3 4
) MigE BE | 8 RIRM |58 BRI | iRoeE R OY
s — R
Vi e P
g )
YNV - - - - -
5~9 A - - - - -
10~19 A 4 91,885 61,620 30,266 32,647
100.0 67.1 32.9 35.5
20~29 A\ -
{’% 30~49 A 2 X X X X >
i
7] X X X X X
> [Fo~99 A~ - - - - -
100~299 A -
300 AL L R - - _ _
[& F] 6 191,901 137,735 54,166 57,194
100.0 71.8 28.2 29.8
H R E Rl 1 X X X X
S5 A E 1 X X X X
X X X X
EESEN 4 177,849 131,655 46,194 50,394
100.0 74.0 26.0 28.3
w. | EEEFTR - - - - -
EO _ _ _ _
g” LYz REN - - - - -
VTR —ER - - - - -
D - - - - -
[& 3] 6 191,901 137,735 54,166 57,194
100.0 71.8 28.2 29.8




13. BEE B RONE 1)

(F-1)
HUSRI] Eqicll

I ANLLTF | 5~9A [10~19 A [20~29 A [30~49 A [50~99 A | 100~299 [ 300 ALA | [#8F]|  HIRR H=BH BES il gk v7he | 2ol | [FrEE]

= A s FmI FmI B R FiRl | —E=
RIGAR IS () - - 4 - 2 - - - 6 1 1 4 - - - 6
SRR N B () - - 13.3 - X - - - 22.0 X X 21.0 - - - 22.0
)58 b (T ) - - 91,885 - X - - -] 191,901 X x| 177,849 - - -[ 191,901
NN s % - - -2.3 - X - - - -1.7 X X -2.8 - - - -1.7
2 AR R 4 S % - - 1.1 - X - - - 1.0 X X -0.9 - - - 1.0
S E AL =] - - 0.88 - X - - - 1.05 X X 1.17 - - - 1.05
AN T ke % - - 66.3 - X - - - 61.2 X X 60.2 - - - 61.2
SN L bhg % - - 60.3 - X - - - 57.4 X X 56.2 - - - 57.4
| 678 LEid s % - - 32.9 - X - - - 28.2 X X 26.0 - - - 28.2
| 758 b R % - - 2.6 - X - - - -1.6 X X 2.4 - - - ~1.6
PE] 876 Faidaflaek % - - 1.3 - X - - - 0.9 X X 0.8 - - B 0.9
QR JE (it 52 1 bR % - - 67.1 - X - - - 71.8 X X 74.0 - - - 71.8
L0JR 75 FIAER bR % - - 35.5 - X - - - 29.8 X X 28.3 - - - 29.8
BN IN= SO R id s) - - 6,935 - X - - - 8,723 X X 8,469 - - - 8,723
12F 281 N YVERE BE - - 61,257 - X - - - 54,829 X X 79,044 - - - 54,829
13EEEA BT YRR T - - 89 - X - - - 81 X X -65 - - - 81
4t EANB T A SERIITE - - 4,599 - X - - - 5,339 X X 5,098 - - - 5,339
15EEA BT YDA T - - 4,180 - X - - - 5,004 X X 4,759 - - - 5,004
L6FRE AT N | % - - 58.7 - X - - - 64.2 X X 70.4 - - - 64.2
4 LTI EARE BB FE % - - 53.3 - X - - - 60.2 X X 65.8 - - - 60.2
% 1 SBEBRER (i B 2h 3 1 - - 6.40 - X - - - 11.81 X X 10.85 - - - 11.81
i[O £52 8 S5 5% 1T ] - - 5.82 - X - - - 11.07 X X 10.13 - - - 11.07
"[208k 3 A B 1A B R A - - 718 - X - - - 452 X X 470 - - - 452
AEIN =NV PN - - 3,150 - X - - - 3,663 X X 3,557 - - - 3,663
220 T kb AR =R % - - 68.5 - X - - - 68.6 X X 69.8 - - - 68.6
|23 hN T e ek A A% % - - 75.4 - X - - - 73.2 X X 74.7 - - - 73.2
gj 24 Eh R % - - 294.8 - X - - - 229.1 X X 195.3 - - - 229.1
P | 25 [ 7 P [RIFR =] - - 1.95 - X - - - 2.76 X X 3.21 - - - 2.76
%26 H CEALR % - - 24.3 - X - - - 17.6 X X 3.1 - - - 17.6
& o7EELE % - - 185.9 - X - - - 215.6 X X 1,186.0 - - - 215.6
P 28 e K i Ak % - - 53.0 - X - - - 50.8 X X 50.9 - - - 50.8
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